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SECTION-~1/W@UsS -1

CHILD DEVELOPMENT AND PEDAGOGY
a1 faera wa Rrememe

There are 30 questions in all in this Section.

All questions are compulsory.
TIEUE H FA 30T | |
[t 79 sAfard €

Which of the following statements is not true about development ?

(A) Development is the product of interaction

[B] Development follows an orderly sequence

(C) Development is individualized process

(D) Development proceeds from specific to general.

= ¥ | F-w FyA fowe F I A g q=wlE ?

(a) T = fman &1 % B) fohe T SFafted el &1 S ]
© fowm wF =Afem gfwan € D) foremre faf¥e & @@ &t SR €T §

Children’s thinking is grounded in concrete experiences and concepts rather than

abstractions. It is the stage from

(A) 7 to 12 years (B) 12 to adulthood
(C) 2 to7years (D) birth to 2 years.
TICTh! Y TIe ST Y 3TN T TS Td Weordi § il § | I ST §
(@A) 79 1298 TF (B) 129 99k T
© 29 7FHTH D) < 299 TF |

Human development is the product of joint contribution of both

(A) parents and teachers (B) sociological and cultural factors
(C) heredity and environment (D) none of these.

e faer fofa A % APTeE 1 aiRon § 2

(a) AYIEF TE IR A (B) THINSF TA WiH{ddh hRb! &l

(C) YA TE S 6 (D) 7 A HE T
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4 [a]
Which of the following is not among the four determinants of intellectual growth stated
by Piaget ?

A Social transmission B) Experience

(C) Equilibration (D) None of these.
= 4 @ 1 =™ F TER difgw faem &1 fuie 7@ 78 €2

A) g g=1 (B) ergyE

(C)  FerHT D) T A FE T |

Which of the following is a better strategy for teaching children with special needs ?
(A) Discussion in the classroom involving maximum number of students

(B) Demonstration by teacher involving students

(C) Cooperative learning and peer tutoring

(D) Ability grouping for teaching.

o atravesar aret sl @ Tgm % forg Freafafaa o @S- s sifus S § 2

@A) srfumrad = &1 Aifad $0 T HET H = HE

B) foenfelli % wfimfea F@ gu Aeams g0 FavH

(C) WEwHI i qun fieR’ S ( wewfedl g gk )

(D) SR & fau draar snurfia |gE |

Ability of knowing the meaning of problem, weaknesses and gaps related to
environment is a characteristic of

(A)  Gifted children (B) Average children

(C) Creative children (D) None of them.

THE % 3¢ Y T T AT, A@ER F g, FwiEl e {fwar & wia wemra foar @
@A) i sl st (B) 9 Seihl i

(C)  FeTRIe rerhi =t D) T A FE T |

A college girl developed the habit of dropping the coat on the floor. Mother asked the
girl to get out of the room and hang up the coat on the peg. The girl enters house,
keeps coat on, approaches closet, hang up the coat on the peg. It is an example of

(A)  Chain learning , (B) Stimulus Response learning

(C) Concept learning (D) all of these.

T HierS] W aell At 3 Tyl W HIE Fha ot 3Ed A ol § | AGH! &t A 3 399 Fe1 fw
FH Y TR Wt iR Fe F1 Gl W AW | AgH SN IR W H YAV F@l ], FIE B FY W
T@ H AR T TE S F I 1 Gl W AT et ¥ 1 7@ 3R

@A) HEarE T #5 B) SEH-FfwH ifarm =

(C) ¥ e D) 376 @ @+t
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Extrinsic motivation may include

I. Praise & Blame

II. Rivalry

III. Rewards & Punishment

IV. Knowledge of results.
Of these :
(A) I and III (B) I, I and III
(C) OnlyII (D) all of these.
1eg Ao § e fa smem

1. W9 TE QRN

1. yfagfem

III. YRR T§ g0

Iv. 9Rum™ &1 JF |
T
@ 13RI B) I, 1 3R III
(C) w9a 1 (D) T Q&

A process in which an individual learns new responses by observing the behaviour of
another rather than through direct experience is known as

(A}  Social learning (B) Conditioning

(C) Experimental learning (D) Incidental learning.

5 gftpn ¥ =afe il & S9eR S 3@ F FEa € 7 & Yoae 999 &, H1 HE1 S §
(@A) gmEfSe Aty (B) . AFFHA

(€ WA sfrm (D) STHfEe A |

The symptom of learning disability is

(A) tendency to escape (B) restless, energetic and destructive
(C) disorders of attention (D) lack of motivation.

At Fraifa 1 agw §

A) 9 & g B (B) 3, el Ud fawgss gl
() ofEum Tl e / TR (D)  FHYTON 1 AW |

The personal factor(s) which affect learning is / are

A Mass media (B) Peer group

(C) Teachers (D) Maturation and age.

Afer Y geNfaa A Jen AfET HE ©

(A) IR % YA (B) GHIIEH GYE

C) JIEYH (D) aRuyFad @ Y |
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12.

13.

14.

15.

:
A cricket player develops the skill of bowling, but it does not affect his skill of batting.
It is known as

(A)  positive transfer of training (B)  negative transfer of training

(C)  zero transfer of training (D)  none of these.

T fohche Taanet 1ot Aast & Fivel 1 faefad o ol §, W 98 3qF Toaars & HIve &l
wTfo Rl T | 39 FEd §

() fadurs wiie =Ry B) s whgor s

(C) ¥ widneror s (D) 37H A HI1E &l |

Which of the following statements best shows the mental health of a person ?

(A)  Full expression, harmonization & goal direction

(B) Lack of mental disorders

(C) Free of personality disorders

(D) Al of these.

e § @ i-w Fue feelt =afw & amfas @rea i 399 §9 9 Y= S ?

@) 9ol sAfveafs, sfasm stk wme @5 $Y eiR A

(B) WHE foshrl =1 7 &

) Afea & faari @ qi®

(D) THEE |

Though number of psychologists like Freud, Piaget explain personality development in
terms of stages but only Piaget talked of

(A) developmental stages which are determined by the environment

(B) restricted effects of stages to early infant experience only

(C)  cognitive transformation to explain stages

(D) none of these.

HIFS, @S Td 3 AR 3 safhe faem &t fafis seensil & g<d § e 1 § 1 R
oS A

() w1 F fome it e amaeRy | fuifa gt §

(B) el T Srmamaeen & oy € ifuss yufaa # , a1kl staeurel & wifgg yaa 94 ¥
() Tfafvm sraeensii w1 TeM & foq §FFRAS 9gad & aR § &al

(D) ¥ F FE T |

Guilford has given the term ‘convergent thinking’ as equivalent to
(A) Intelligence (B) Creativity

(C) Intelligence and creativity (D)  none of these.

firerare 7 ¢ siferdt o’ ug 1 g forws wam s 4 T @ 2

W dfs (B)  FHH

©) dfe & ForHRM D) ¥ @ FE T |
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17.

18.

19.

7 L-2
Which statement is not true about interest ?
(A) Interests are innate and acquired
(B) Interests change with time
(C) Interests are not related to capacities and aptitude
(D) Interests are not reflection of attraction and aversion in behaviour.
frAddaR-miFrm s F N T T =T ?
() ¥l s o st ST gt €
(B) ol HHY % STHER SRer! Wl §
(€ cfaar dramell wd sifusmaetl § wafam e S ¥
(D) @il =eer § v wd fasdn % yfafa et €
The attitude is
(A) an emotionalized tendency organised through experience to react positively or
negatively towards a psychological object

(B) a characteristic that is symptomatic to the individual's ability to acquire with
some specified training, some knowledge or skill in a given field

(C) a potential ability of an individual of a specialized kind

(D) none of these.

afvgfa ?
(A) TH WEEs Ygia S STVE & gRI Wifed Bt el Halaqis a%g & Wia qE€e o
AoEE o ®9 § giafwar st §
(B) U Ut fagivar &l =ufw =) draa o1 9fi=naes € o) foet yeu &% o fafye wfiemorn, I=
YA HITT & @ S HHA ©
(C) waf® =t o e it o fafte yer &1 81t €
(D) 378 | IS TRl |
In personality as well as intelligence heredity plays
(A) anominal role (B) a great role
(C) unpredictable role (D) fascinating role.
afe Td i § duEy
(&) TEEE & e § - (B)  HeEol offeT @
C) STEigEa iy € (D) HuE fFe € |
Which of the following is the storehouse of our unfulfilled desires ?
@A) Id B) Ego
(C)  Superego (D) Id & Ego.
59 gowrett =t gfiid 1 3, S vverE e A | wlR-w e ?
A T|Hq (B) &=®H
€ TH IJEH ’ (D) ¥ TG 7Y |

LT | [ PTO.
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20.

21.

22,

23.

24.

5
Defence mechanism helps us a lot in dealing with

(A) violence (B) stress

(C) fatigue (D) strangers.

&M 5 dga Weradl Sl §

(a) fEwafmead B) TuE 9 fge |

€ oM A fger | (D) il | e #

Which of the following will serve as a most satisfying defence mechanism for the
physically handicapped individual ?

A) Identification B) Rationalization

(C) Fantasy (D) None of these.

R Fefraa aret ot & fog foer § @ FhR-dt 3i® e o § =@ gaesee el ?

(A)  ETHIRT B) o

(C) sfashea (D) T A HE T |

Children’s Apperception Test was designed for children between ages 3 and 10. The

CAT cards substitute
(A)  non-living objects for living objects - (B) animals for people
(C) females for males (D) children for adults.

SAF TETEY G0 398 ¥ 10 9 HI Y & Aceh] & AT 99 T4 ® O 39 v § w1 o
yiaeenfaa fmd ™ €

(A) TNg TRgell WA R g swgeii & (B) NN o TH W S H
(C) TNl & TIF W el (D) 99 & TIM W AEH Hl |

In order to nurture creativity, a teacher should take help of which of the following
methods ?

(A)  Brainstorming (B) Lecture method

(C)  Audio-visual aids (D)  All of these.

ForRITerT % W9ol & faT T srearyes i fre § @ forw fafy =6t e oFft =ifey 2

() &7 =i/ feerEw (B) =redd fafy

€ T@E-FA qHl (D) T | Al |

Which of the following statements is incorrect ?

(A) Need is not a physiological stage of deprivation
(B) Drive is a psychological consequence of a need
(C) Need and drive are parallel but not identical

(D) Instincts are innate biological force.

(LT
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fadds-Term o € ¢ ?
(A)  SAEvIHA SO hI ARTE T Tl ®
(B) ST<lg STEvahal 1 HAGRI=S qiom &
(C) SAEIYTHdl TF ST<HIg THF &1 §, dAfeh THH=R §
(D) Hogafaar T Sfas s § |

25. Right to Education Act, 2009 specifies the minimum number of working hours per
-week for the teacher as

A forty hours (B) forty-five hours
(C) fifty hours (D) fifty-five hours.
foren =1 stfuer erfufaem, 2009 ® T TeaTTS F faw <Fan = He 9y war fAuifa fF ™ €
@A) g He B) Uiy wHe
(C) =9 e ' (D) T EL |

26. Right to Education Act, 2009 states that a teacher shall perform which of the following
duties ?

(A) Maintain regularity and punctuality in attending school

(B) Conduct & complete the curriculum

(C) Complete entire curriculum in a specified time

(D)  All of these.

fonen =1 srfeaR stfufem, 2009 # T 1eam9ss & = § 9 fofw <ifae &1 Q@ & gem 2
() foemem # fafia €9 @ 999 W 3ufer@ gE g

(B) UISTHH h1 Fee T QU KA 2N

(€) T¥ul qrewhA & FUiRa 9 W 0 & M

(D) T || |

27. National Curriculum Framework, 2005 suggests some activities to promote peace
education. Which one of the following is enlisted in the curriculum framework ?

(A) Organise programmes to promote an attitude of respect and responsibility
towards women

(B) Teach moral education
(C) Teach peace education as a separate subject

(D) Integrate peace education in the curriculum.

TP IISTHY TR, 2005ﬁmﬁwﬁwﬁ%mwmﬁﬁa§wﬁﬂé% |
TRy wE | A A 9§ fRe gEes fen T ® 2

() Tfeeei ¥ 9fa TR e et 1 oo fasfag w7 & foe wrfswy smaifsa o s
(B) Hfaer foren =1 wgrn W@

(C) i foren i T o1 fawa & &9 H vgrn 9

(D) wnf=7 fnen =t wrewshn ® wimfea fear s |

(T T | PT.O.
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28. National Curriculum Framework, 2005 talks of major shifts from

A
(B)
©
(D)

knowledge as given and fixed as it evolves and is created
educational focus to disciplinary focus
learner centric to teacher centric

none of these.

TET IIST==1 hl ®9@, 2005 H S & T ¥

2\
(B)
(&)
(D)

A R R 9 e s @ ¥ 9 o T S €1 o sHeh! WlEe it St €
e Fx ¥ fag FF TR W

foenell wfa ¥ ereamys Fisa =t ok

TTH | IS TRl |

29. The objective of action research is to

(A) gain new knowledge

(B) develop the science of behaviour in educational situations
(C) modify the educational practices in school and classroom
(D) all of these.

foraTers ST aRe %1 5299 ©

(A)  TEH FHE HT Gl

(B) e aRfeafedl 4 sraer foaam =1 fawm

() Toemem g wan &) A w1 gored! § GUR

(D) TAH A9 |

30. In the National Curriculum Framework, 2005 under the heading ‘Examination Reforms’
which of the following reforms has been suggested ?

A
(B)
(€
(D)

Open book exams
Continuous and comprehensive evaluation
Group work evaluation

All of these.

T Ir3a=El TO@l, 2005 F ST qlen guRl' # e A 9 fhw gqurR s g T g ?

A
(€

el gk wen (B) Had/ PR T s e
A Fr e O TEIW

NI |
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32.

33.

34.

35.

36.
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@UE - II

UTHT - I

et

THESH FA 30T T |
At v e § |

I 9ot =y TE¥ } ?
@ T B ©
Q D T I
fFaws # '® W TR T ?
&)  Ho B) P
© gfE (D) fEm™ )
foFq @t &) STT=R’ Fe W § 2
(A) W F IR H o o A |t (B) W €9 @ S=ia @t
(C) TR F WY A areht et (D) oM & o H T Al s |
fFows d i Efa’ 7 2
@ ey B  WRdg
€ IR (D) Sz |
‘FerssTan’ w1 wiy-fa=eg g
&) FE: ¢ T (B) & + O
C) 3J&q + 3™ (D) 3« + 94 |
‘g’ T 1 TFT Y B
@ Hq® B =g
) sy D) WE I
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37. Tawa oA 1 sty TA I T FT FEd §

A) It e B) foeiw W=
C) HHMEHF TR (D) T T |
38. ‘=i’ w&g H1 otef 7EH o ¥
@ @ (B)  STTY
(C) it (D) &&R |
39. =M U 'udA’ & qEiEat T8 R ?

(A SIS B) A

€ wAfEs (D) & |
40, 'f9H T 7 wE O WE 81’ F fAU T s g

@A) "= (B) &M

(G R (D) ATHA=R |

41. orfvwn =g oifw o

() arene e Bl © B) A yehe BT ®

() =ad wehe gl ? (D) fafest o7ef yehe T R |
42. 'vEereas® €' F S o ¥

(A)  TY-val emfy B)  TU-YN e

) feerd smfe (D)  Myuw anfe |
43. ‘TEA HIEl Ao BT H War o’ # foasr §

(A) =Tt (B) Tacd

© = D) G |
44, ‘TR HETF o %1 &l o' T W i WH W W g

@ = B R

Q)  3Ten D) 3tea |
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‘&Y draar fae T Jare S e 39 9 W e

(&) FHEIEYE T B) foran foraor

(C) T=HEIYSH T (D) faerEfestys 3799 |
‘H' AR ‘% fau’ fre FRE F g § 2

(A) HHEH RH (B) U &

(C) UM FRFH (D) HET FRE |
‘3w’ R ‘fada’ forar o ¥ 2

@A) G B) T=AT

€ < | (D) &9

"Agerht 3 T St F i weh wy — 39 o9 T 92 §

(A T (B) ¥

C) &R | (D) O |

; for fog &1 M &

@) g fom ® fmm

€ o fom D) FEE |

TR FfT A T FAF e fmm R @@ e ?

@ e o B frdww

(C) wiE® (D) 39 o |

' STEH H AW IS’ & fAT SugE |

(A)  Fedt W H g G (B) STRII-UMIE T LAl
(C) Tl T FHA (D) SR W W@ |
‘e ST’ TR W Y R

(A)  TIel g B) ST &M

€ =E T (D)  <fal ® sty g
"STTT 1Y ST W o

(A)  HAEE B) ST TY GG B ®

C IAHTIAFHFAE IS A (D) 19 Y | H HEAT |

NIRRT
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‘A g Wl TH THE §, 9 99 T 9 9’ % o sy ®

@) SRR R B TF T Ik F -
(C) HT-S & € (D) S AT 98 WOy |
SITURIEAT T 19 el &I § 7

@A) I (TR) (B) HHRER U

C) HENTE D) W A HE T |
‘o e’ @1 SREE T ®

(A) HMEE & SR HEE (B) WM H A

© FmEv wE wEm (D) T 9@ wE |
ot Frfe™ g0 T Y % fufadl S WS ST STe IS 95, 999 A ARY FEEr
(a)  ufte ® o=

€ sifegE (D)  &mEE |

GO : W HE&A (58 - 60 ) & o f= mew i e § 98 S R I T e kI

| TN HT SO T S BIA1 § | 9% had Al 3R Hegha &1 g1 A gl i, afeh Ife
1 off & a1 © | TR g qew it E@hfa afe 90 g6 A g 3ue 90 | Jdt weent % wHe g,
W 39 G- otaAfa & e # R STt o af] sr=st grh A Wew 27 delt Wig o §HH g,
i 39 PR 3=t &1 3R IS Sw |

T T H WS ST

(A)  FEIT FH TEW (B) =8l Wil
(€ @ (D) go &N |
‘gE o e ®

(&) T e B) @ ¥ Wl
(C) Ei % weht D) o0 g |
T T T FEG 9T ®

(A) EIfd = HES (B)  Famgew
© if ik vl (D) <= |
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SECTION - 1I
LANGUAGE 1
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words is a verb ?

(A)  Sympathy (B) Sympathise

(C) Sympathetic (D) Sympathiser.

Fill in an appropriate determiner :

.............................. first item in today’s programme is a song.

(A) The (B) A

€C) Any (D) Some.

Supply the correct form of the verb in the following sentence :

She ....ccoovviiiinnnn a new dress last week.

(A)  has bought (B) has been buying

(C) Dbuys (D) bought.

Which one of the following sentences has the correct verb form ?

(A) They already seen the film (B) They already saw the film

(C) They will already see the film (D)  They have already seen the film.

May I enter your office ?

In the above sentence ‘may’ has the meaning of

L-2

(A) permission (B) possibility
(C) probability (D) order.

To express ‘necessity’ we use the modal

(A) may (B) must

(C) can (D)  might.
Complete the phrasal verb in the following sentence :

I usually go to bed early and also get ..................... early.
A out (B) off

© up (D) into.
Which one of the following options will complete the phrasal verb in the following
sentence ?

The train slowed ........................ and finally stopped.

A up (B) over

(@ about (D)  down.

T
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Pick out the phrasal verb which means ‘to take care of’ :
(A) run after (B) look after
(C) runinto (D) look for.

Complete the phrasal verb in the following sentence :

The tourist guide pointed ...............c.oveneee. the most important buildings.
(A) in (B) out
(C) off (D) on.

Which one of the following phrasal verbs means ‘to stop doing an activity or a job’ ?
(A) take up (B) run down
(C) give up (D)  look for.

Which one of the options will complete the phrasal verb in the following sentence ?

ITLhad tofill ........covvvnveeiinnenn. three forms to get my driving licence.
@ up (B into
(©) down (D)  over.

The passive voice of ‘We make butter from milk’ is

(A) Butter is being made from milk

(B) Butter has been made from milk

(C) Butter was made from milk

(D) Butter is made from milk.

Which is the correct passive voice of the following sentence ?

They have painted the door.

(A) The door was painted (B) The door has been painted
(C) The door is painted (D)  The door be painted.
My sister said, “I am enjoying my work.”

In Reported Speech the above sentence will be

My sister said that

(A) she was enjoying her work

(B) I was enjoying my work

(C) she was enjoying my work

(D) I have been enjoying my work.

NHTRH]
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46. Rahul said to Veena, “Please return my books early.”

In Reported Speech the above sentence will be

Rahul requested Veena to

(A)  return her books early (B) return my books early
(C) return his books early (D)  return their books early.
47. Which one of the options has the same meaning as the following sentence ?
The Taj Mahal is the most beautiful building in India.
(A) India has many beautiful buildings
(B) The Taj Mahal is more beautiful than any other building in India
(C) India has only one beautiful building, the Tal Mahal
(D) The Taj Mahal is a beautiful building.
48. Pick out the correct ‘wh’ question :
(A) How much money do you want ? (B) How much do you want money ?
(C) How much do you money want ? (D)  How much money you want ?

49. Which one of the following words is similar in meaning to ‘purchase’ ?

(A) Buy (B) Sell

(C) Receive (D)  Supply.
50. The word ‘inspection’ is similar in meaning to

A interview (B) exercise

(C) getup (D) check up.
51. The opposite of the word ‘support’ is

(A) help (B) argue

(C) oppose (D) return.
52. Which word is opposite in meaning to ‘interesting’ ?

(A) confusing (B) boring

(C) contrasting (D) pleasing.

53. Choose the word with the correct spelling :
(A) fenancial (B) financiel
(C) finencial (D) financial.
54. Pick out the word which has been correctly spelt :
A situetion (B) setuation

(C) situation (D) situasion.

L [ PTO.
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55.

56.

- 57.

58.

59.

60.
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Note : Please read the following stanza to answer Question Nos. 55 and 56 :
“The Jamuna's waters rush by so quickly,
The shadows of evening gather so thickly,
Like black birds in the sky ...

O ! If the storm breaks, what will betide me ?
Safe from the lightning where shall I hide me ?
Unless Thou succour my footsteps and guide me.
Ram re Ram ! I shall die.”

“Like black birds” in the above lines in as example of

A) metaphor (B) simile

(C) hyperbole (D) pun.

We can find an example of alliteration in the above lines in

(A) Ramre Ram (B) I shall die

() The Jamuna's waters (D) The shadows of evening.
An elegy is a

(A) sad poem, usually about someone’s death

(B) love poem

(C) prayer

(D) poem about someone’s marriage.

The phonetic symbol for the first sound ( underlined ) in the word ‘ship’ is
w /7 B /sh/

@ /ch/ o/t

Direction for Question Nos. 59-60 : Pick out the correct phonetic transcription of the
following words :

Pick

@  /pllk/ B /pi:k/
© /plk / (D) / plkk /.
Try

@  /trl/ B) /tral/
©  /tri:/ (D) /trae/.
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words is a noun ?

A interesting , (B) develop

(C) teacher (D) brave.

Fill in the appropriate determiner :

I have not got e money in my bank account.

A) any B a

(C) afew : (D) few.

Supply the correct form of the verb ‘remember’ in the following sentence :
I your name.

A am remembering (B) remember

(C) was remembering (D) have remember.

Pick out the correct verb form :

She was walking along the road when she ........................ him.
(A) met (B) have met
(C) was meeting (D) meet.

Supply a modal which expresses ability :

All of them ..................... speak three languages.
(A)  may B) wil
(C) must (D) can.

We must come back by six.

‘Must’ in the above sentence expresses

A) possibility (B) advice

(C) desire (D)  necessity.

Complete the phrasal verb in the following sentence :

You may try hard to hide the truth, but one day the truth will come ............ .
A) in (B) over '

(C) out (D) at.
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Complete the phrasal verb in the following sentence :

People have been complaining about the prices going .................. everyday.
A  up (B) through
(C) after (D) in.

Complete the phrasal verb in the following sentence :

Many parents were at the railway station to see .................. their children.
(A) away B at
(C) off (D)  after.

Which one of the following phrasal verbs means ‘to remove’ ?
(A) puton (B) take off

(C) putup (D)  get off.

We decided to put off our visit to Kashmir till October.

‘Put off in the above sentence means

(A)  arrange (B) plan

(C) reject (D)  postpone.
There isn't enough money, so we must cut down expenses.
‘Cut down’ in the above sentence means

(A) reduce in size or amount (B) stop

(C) increase in size or amount (D) revise.
They are repairing the bridge.

The passive voice of the above sentence will be

(A) The bridge is repaired (B) The bridge are being repaired
(C) The bridge is being repaired (D) The bridge has being repaired.
Pick out the correct passive voice of the following sentence :
They carried the injured player off the field.

(A)  Off the field was carried by the injured player

(B) The injured player was carried off the field by them

(C) The injured player be carried off the field

(D) The injured player has been carried off the field.
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He said, “Kavita, when is the next train ?”
The above sentence in Reported Speech will be
(A) He asked Kavita that when the next train was
(B) He asked to Kavita when was the next train
(C) He asked to Kavita that when is the next train
(D) He asked Kavita when the next train was.
The doctor said to me, “Do not swim in cold water.”
In Reported Speech the above sentence will be
The doctor advised me
(A) do not swim in cold water B) that do not swim in cold water
(C) not to swim in cold water (D) to not swim in cold water.
Pick out the sentence which has the same meaning as the following sentence :
No person in my village is as wise as my uncle.
(A) My uncle is the wisest person in my village.
(B) There is no wise person in my village.
(C) My uncle is the only wise person in my village.
(D) My uncle is wiser than some people in my village.
Pick out the appropriate question tag for the following statement :
You didn’t see him.

(A) didn’tyou ? (B) did you ?
(G isn'tit? (D) aren't you ?
The word ‘advocate’ is similar in meaning to

(A) adviser (B) scholar

(C) supporter (D) lawyer.
Which one of the following words is similar in meaning to the word ‘precise’ ?
(A) brief (B) exact

{C) precious (D) expensive.
The opposite of the word ‘familiar’ is

A related to a family (B) personal

{C) strange (D) unfriendly.
The word ‘creative’ is opposite in meaning to

(A)  destructive {B) positive

(C)  artistic (D) pessimistic.
Pick out the word which has been correctly spelt :

(A) obidient (B) obediant
{C) obedient (D) obidiant.
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84. Which one of the following words has been correctly spelt ?
(A) gramar B) grammar
(C) grammer (D) gramer.
Note : Read the following stanza and answer Question Nos. 85 and 86 :
“Silence hath bound thee with her fatal chain ;
Neglected, mute and desolate art thou,

Like ruined monument on desert plain :

May be by mortal wakened once again,
Harp of my country, let me strike the strain !”

85. The line ‘Like ruined monument on desert plain’ is an example of

(A) simile B) metaphor
Q) elegy (D) hyperbole.
86. Which one of the following phrases gives us an example of alliteration ?
(A)  harp of my country (B) strike the strain
(C) with her fatal chain (D) desolate art thou.

87. A sonnet usually contains
A eight lines (B) six lines
(C) twelve lines (D) fourteen lines.

Direction for Question Nos. 88-90 : Pick out the correct phonetic transcription of the
following words :

88. Like
A /lalk/ (B) /1k/
A /laitk/ (D) /lu:lk/
89. Tree
@  /trl/ (B) /tre/
A /triz/ D) /trel/
90. These
(A) /dls/ (B) /9i:z/
(@] /91z/ (D) /oi:z/.
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SECTION ~ IV / @UE - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

9 @vE § S SuEvs 1 IV(a) TFUTA den fagm Td Iv(b) |THTReR Steam § | Sl SYEUEl % YT
T 60 sgfahedd T ¥ |
weneff = 1v(a) WU wem fam sterEm Iv(b) wrmifses seaas e s e seed o | fwan
R H 9 forelt w Symvs I A ® wE 9t 60 TRl FIISW AT |
SECTION - IV (a) / @UE - IV (a)

MATHEMATICS AND SCIENCE / Tifuta @ faam
There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

@ § T 607 T | fo eneamfela A 3w fawg &1 w99 e @ 3= Qe wem s oifard ®
2
91. Thesimplifiedformsof222 ,[22]22and(222]2are

A 216 44 162 B 44 28 82
(C 216,28 82 (D) 162 44 216

2
et 222 (22)2%qw (227 ) s wa ww @
A 216 44 162 B) 44 28 82
() 216 28 g2 (D) 162 44 216,

92. The factors of expression (x2—2xy+y2]—zzare
a) (x+y-z)(x+y+2z) (B) (x-y-2z)(x-y+2)
€ (x-y-z)(x+y+2z) D) (x-y-z)lx-y-z).
3(’1'\?16!5(x2—2xy+yz]—zzﬁ'{[UF{@“E'%t
a) (x+y-z)(x+y+2) (B) (x-y-z)(x-y+2z)
© (x-y-z)lx+y+2z) (D) (x-y-z)(x-y-2)
- 93. If ax?+ bx+ c =0 is an identity in x, then

-bx\b2-4ac -b
(A X = 2a (B) c=0, x=0, x= a
(©) c=0,x=%,x=% D a=0,b=0¢c=0.
e ax2? + bx + ¢ =0, x¥® Th GaqaHr g, @

-b+Vb2-4ac _ N _-b
a) X = 2a (B) c=0, x=0, x= a

-b b

(@)} c=0.x=7, x=2 (D) a=0,b=0,c=0.

94. The numerator of a fraction is less by 2 than its denominator. If we subtract 2 from

the numerator and add 2 to the denominator, then the new fraction obtained is % .

What is the original fraction ?

@ 2 ® 2 o 2 o 3
@fw%ﬁmﬁrmﬁﬁzw%Wﬁgﬁéﬁmﬁﬁzmﬁmaﬁaﬂxﬁﬁzmﬁmaﬁ
o 59 R T T e 38, o wRf e @

7 3 5 1
(Aa) 9 (B) 5 (@) = (D) 3

IUHTEE | P.T.O.
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95. If we divide x*-y* by x- y, then the quotient and remainder are respectively

@A x3+x2y+xy2+yd, 0 B x3-x2y+xy2+yd, 0

© x3+ys, x2y+xy? D) x3-y3, x2y-xy2

G x% -y & x- yd T P 9FTEA R AvEA wH: TR

A x3+x%2y+xy?2+yd3, 0 B) x3-x2y+xy2+y3,0

© x3+ys3, x2y+xy? D) x3-y3, x2y-xy2
96. If the arithmetic mean and geometric mean of two numbers a and b are equal then

A) a+b=ab (B) a+b=+vVab

© ~a+b = ab (D) a=bh.

Tfg fgl I demsll aqd bHT FHRR HWIEF TN OIRR [1eA SR &, @

A} a+b=ab B a+b=vVab

© ~Na+b = ab (D) a=h.

97. What will be the compound interest of Rs. 48,000, at the rate of 10% for a period of
1 %years, if the rate of interest is calculated on the basis of six months ?
(A) Rs. 6,566 (B) Rs. 7,566
(C) Rs. 8,566 (D) Rs. 7,577.
48,000 %o FT 10% & X H, 1 a4 Fi=ehgls A6 1 8, 9fe =« ol R B: 7L & fFw=
Jami s 2?2
(A} 6,566 To (B) 7,566 o
(C) 8,566%0 (D) 7,577 %o |
98. A shopkeeper marks the price of an article of original cost Rs. 100, after increasing it
by 10%. He then sells it by giving a discount of 10% to the customer. The price at
which he sold the article is
(A) Rs. 100 (B) Rs. 101
() Rs. 99 (D) None of these.
T THMER Tt axq %1 goa, foae arafas ged 100 To §, 10% T Sifehd &l & | 98
3G a% W 10% HHIH SH g hl 9=aql €, 9 ST 98 aK] fohad o § o=t ?
A) 100 %o (B) 101 %o
(C) 99%o D) T ¥ RE T |
99. Which of the following statements is incorrect ?
(A)  If the four quantities a, b, ¢, d are proportional then ax d = b x c.
(B) If a b, ¢, d are proportional then ac = bd
(C} The inverse proportion of proportion a: bis b: a
(D) If three quantities a, b, ¢ are in geometric progression, then b? = ac.
e & § -9 FPH e[ § 2 |
A) I AFE a, b, ¢, dAHHIET §, @ axd=bxc
B 3% a b, ¢, dFIEERT €, A ac = bd

(C) WHIE a:bH FHAGUA T b: a
(D) afe ufdEl a, b, ¢ TR AR F €, @ b2 = ac.
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The number of members of an institution is 2500. If the number of members in first
year increases by 10% and in the second year decreases by 10%, then after two years
what is the increase or decrease in the number of members ?

A) Neither decrease nor increase (B) Increase of 25 members

(C) Decrease of 25 members (D) None of these.

el S | Hewl 1 W 25002 | Af 98 HE Tewt AW H 10% gl © a° g AW H 10%
T S ], @ QAN 6 A Wl hi W& H fhaAl gig a wA T 2

@A) A gfg T %R (B) 25%cE &I gfg

(©  25%=l & wH (D) T 9 &R T |

Two cars X and Y are moving from a point A to the point B which are 50 metres apart.
If the speed of X is 10 m/sec and that of Y is 25 m/sec then the time taken by them
to reach to the point B are respectively

A 2 sec, 5 sec (B) 500 sec, 750 sec
(C) 5 sec, 2 sec (D) _é_
< forgell Aqen BT sfe &l gt 50 Wit §, & &1 X yoert € 1 9fq X afd 10 9@
qq Y& A 25 /A ®, A ST SH F G AY TSR B I UgTH H O A6l §9F HAN: T
@A 29 59 (B) 500%®, 7504

© 5% 239 O L3

1
SEC, 5 sccC.

Divide Rs. 13,260 between Ram and Shyam in such a way that if Ram gets Rs. 11
then Shyam gets Rs. 15. Then Ram and Shyam will get respectively

(A) Rs. 7,650, Rs. 5,610 (B) Rs. 5,610, Rs. 7,650

(C) Rs. 5,100, Rs. 8,160 (D) Rs. 8,160, Rs. 5,100.

13,260 To ! 9 31X W § 39 FoR fawifsa &L fo afe 1@ &1 11 %o ot & v &1 15%0 |

39 TR F fawrse & 1 &R vm &) wae el

(A) 7,650%0, 5,610%0 (B) 5,610 %o, 7,650 %0

(G 5,100%0, 8,160%0 (D) 8,160%0, 5,100%0 |

Which of the following is incorrect ?

(A) The point of intersection of medians of a triangle is called centroid

(B) The point of intersection of perpendiculars drawn from the vertices of a triangle
on the opposite sides is called orthocentre

(C) All the three bisectors of angles of a triangle intersect at one point

(D) Median of a side of a triangle is perpendicular bisector of that side.

1 ¥ 4 S-9 Fo e } 2

(a) foeh B =t miftaeel o1 gfosde fag FF=s seam ©

B) foret fasge 7 vid @ 9r arelt S W S TC @ o Fiawss o O R el §

€ Tt e & A9 ol & wEfgaIs T fog W faem € :

(D) foreh fasget & ofon =t wiftaeh, 39 o1 | & Tl § T W WAl I |

HHHARI [ P.T.O.
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104. Which of the following is not the condition of congruency of two triangles ?
(A) The three sides of a triangle are equal to the three sides of the other triangle
respectively.
(B) Two sides and the angle included between those sides of one triangle are equal
to two sides and the angle included between them of the other triangle.
(C) Two angles and the side between them of one triangle are equal to two angles
and the side between them of the other triangle correspondingly.
(D) All the three angles of one triangle are equal to the three angles of other triangle.
1§ @ H-w weE Qe Y et % foe e i R 2
() T s FY e e gE frgs &6 i qened % SRR B
B) TH e 1 < Yo W& ST = 1 I, g st 1 @ y[onstl o 3 ot & o
R
© TF s & @ A iR 7% o9 & S, g BT & 7 F &R 7% o= w e &
W T
(D) T fyw & 1 &, gE s & diFi o & aue g |
105. If each angle of a quadrilateral is less than 180°, then it is called
A) concave (B) convex
(C) parallelogram (D) trapezium.
et =ge =1 Y HIv AfE 180° . HH. €, W TgHS &l FHEd §
(a) HAadda (B) 34d
(C) ¥FHRR (D) SIS |
106. Alternate angles in the given figure, where two parallel lines are cut by a transversal,
are
12
3/ 4
5 / 6
7 / 8
@ (1,8)and(2,7) (B) (1,2)and (7, 8)
A (2,6)and(1,5) M (1,5)and (7, 3).

e g fod o Q) wmieR YT@neil # e T foeie W % WY 9 g TERR HI0

@A)
©

s

3/ a

5/6

7/8
(1,8) a1 (2, 7) B (1,2) a4 (7, 8)
(2,6) @@ (1,5) D) (1,5)7W (7, 3).
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107. In the following figure, the value of angle a is ( here O is the centre of the circle )

@A)
©

D

£

60°

A B
60° (B) 20°
30° (D) 40°.

fRAgufE iR o IR (B OTWH F= &)

@A)
(¢}

D

s

60°
A v B
60° B 20°
30° (D)  40°.

108. Which of the following statements is incorrect ?

@A)

(B)

©

(D)

The angle subtended by a chord of a circle at the centre is equal to the angle
subtended by the chord at any point of the circumference of a circle.

The lengths of the chords situated at equal distance from the centre of a circle
are equal.

The angles subtended by a chord at different points on the circumference of a
circle are equal.

The perpendicular drawn from the centre of a circle on a chord, bisects the
chord.

4 Q@ - FUe S © ?

@A)

B)
©
(D)

et g9 § T a1 gR F W SR W F0 IH A g Ry F R e fag W
T T HIO F TER T T

et 99 ° = Q TR W W feora Sl 1t avad SR et @
foret 99 o ww e g ity & oter-otent fagsill W S MY IV SR B ¥
el 99 & % Q T Sar W STl 791 T Sia1 1 gafganfem s §

T T [ PTO.
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109.

110.

111.

£
Given UZ = 5 cm, XU = 4 cm, are sides of the rectangle XYZU.
The area of parallelogram KLZU is ’

X K Y L

U Z
A) 20cm (B) 10 sq.cm
(© 20V2cm (D) 20 sq.cm.
AT XYZUSHT Yo UZ = 590 91 XU = 497 |,
@ TR =SS KLZU S 9% ©

X K Y L

U V4
@A) 209 (B) 109 9=
© 20V29H (D) 203 &=t |
Hero’s formula for the area of a triangle with sides of lengths a, b, cand s ___a+Tb+c ,
is
(A) abc (B) Vs(s-a)(s-b)(s-c)
© VGE-a)ls-b)(s-c) (D) 3 x Base x Height.
Wﬁ‘gﬁ%m%mmﬁﬁﬁr&a,b,cﬁ,ﬁﬁww%(qﬁs:%l”c)
(A) abc : B) Vs(s-a)(s-b)(s-c)
© VGE-a)(s-b)(s-¢) D) 5 x MR x S |

A triangle and a parallelogram have the same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm and parallelogram stands on the base
28 cm, the height of the parallelogram is

A) 12 cm . (B) 16 cm

€ 14 cm (D) 6 cm.

T HYS IR gamR 9gde &1 SUR Td e T9M € | afk BIye #) yoid wee: 26 9,
28 [t aur 30 ¥t ¥ R HurR TGS 1 SUR 28 A+ AR oS ¥, A WHRR TGS F SO
LI V

@A 1299 B) 169H

© 149 D) 6¥H |
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112.

113.

114.

115.

116.
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In general a book is a solid figure, known as
A) parallelogram B) cube
(C) rectangle (D) cuboid.
YR T fovael T 3 smepfa & foree Am &
@ R =g B) =
(C) 3mId (D)  EAIY |

Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side
5 cm will be required for it ?

w 9 (B) 18

c 27 (D) 30.

U9 T 3 9 I redl § Tt =1 15 99 91 | 39% faw 59 S 9 fRen wMeER

ZHEI I ATATHAT A 2

73\ 9 - (B) 18

Qc 27 (D) 30.

The volume and curved surface area of a right circular cylinder are
(A) 2nrh, nr2h B) nr2h, 2nrh

(C) %nr2h, 2nrh (D) nr2h, nrh.

T FURIVIE R Aot 1 ST Td dsh U3 Sl &R §

(A) 2nrh, nrh B) nar?h, 2nrh

© Lmr2h, 2nrh D) nr2h, nrh.

3
The value of ©t is given as follows :
3:14159265358979323846264307
The most and the least frequently occurring digits after the decimal point are

respectively

B 3,7 (B) 1.3
c 3,0 (D) 4, 1.
n s 7 = femm gem ©

3-14159265358979323846264307
[T F IR T Q] R FaE FH IR AW AT 3 FEA: §
a 37 (B) 7, 3
@ 3.0 D) 4, 1.
The graphical representation of data in which data is shown by rectangles drawn on
X-axis as base, which are of equal width and the space left between any two
rectangles is same, is called
(A) Histogram (B) Frequency polygon
(C) Bar graph (D) None of these.
el AW g YEiid $ * 95 fafy oo siwe 39 ol g1 wefdfa fovd o ©
forent emuR x-31&7 B, fS9eh STUR <ok TS & i a9 S STEdl o o H BIS1 T TH e
%1, Heal §
(A) smEates ( feenm ) (B) RSNl SgY
C) ¥ I® (D) &9 Q&1 7T |

(LTI [ PT.O.
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117. The values of marks H\H and m are

A 5,5 (B) 5, not defined
(C) not defined, 5 , (D) 3, 3.

fet [N @ M| wame

A 5,5 (B) 5, uftunfa =€t ®
(€ eaRwfE, 5 (D) 8, 3.

118. If the data to be represented graphically on Y-axis are in lacs as 1.5, 2-1, 2.7 and 3.3
then which of the following is a suitable scale of choice for one unit ?
A Rs. 50 thousands (B) Rs. 30 thousands
(C) Rs. 40 thousands (D) Rs. 60 thousands.

Ffg Y-18 W WTHIY Y | Wi fFfd o ot ofiwe o ¥ 1.5, 2-1, 2.7 90 3.3, @ w&

THTS hl TR F & T ITGH A9 ( Thed ) A 9 I ?

(A) 50T %o (B) 30 TER %o (C) 40TR %o (D) 60T %o |
119. In the given circular graph, the decreasing order of the expenditure incurred on

various heads is

Food

Clothes

Education

House Rent

A Education, Savings, Clothes, House rent, Food
(B) Food, House rent, Clothes, Savings, Education
(C) Food, House rent, Education, Clothes, Savings
(D) House rent, Food, Education, Clothes, Savings.

=1 o fom o fafim o W fofron 9 aren =@, o e A ®

T Tt
@) foen, 9@, F99, THM fH, @M (B) memwﬁrm
() @, " T, fen, w9g, s= (D) HeM Fertran, @, fe, HUS, o= |
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The lengths of 35 leaves of a plant are measured correct to one millimetre, and the
obtained data is represented in the following table :

Length (in mm ) Number of leaves

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 4
Is it correct to conclude that maximum number of leaves are
A 153 mm long (B) 145 mm long
() 149 mm long (D) none of these.
et At 1 35 Uil ot TE o SIS U Tt o Tl w9 @ fa ot ® €

g ( Beit | ) gl @ WA

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 4
FN I8 el 9 ¢ T sifuehivm: ufwal €
() 153 fudt et (B) 145 fHHt et
(© 149 fret @it (D) T A FE TR
In a typical plant cell the position of nucleus is
(A) Central . (B) Peripheral
(C) Basal (D) anywhere.
T T UGY HiferR § Fh it fefd g ©
() A (B)  wieg
© Ut (D) el ot |
Which of the following cell organelles is known as powerhouse of the cell ?
A Nucleus (B) Nucleolus
(C) Golgi body (D) Mitochondria.
firet F @ o IR ) FIRHT 1 UFTE bl ST 2
A FEF (B) i
(C) et % (D) wESRIfrgar |
The longest stage of mitosis is
(A) Prophase (B) Metaphase
(C) Anaphase (D)  Telophase.
Togs faurer § W ol wreeen €
A WHS (B) Hehd
(C) TR D)  Frpst |

LT [ PT.0.



L-2 76
124. Viral disease is

A) Polio (B) Plague
() Cholera (D) Typhoid.
" i A
() et B) wm
) = (D) TEAFES |
125. Which of the following deficiencies in food causes night-blindness disease ?
A) Protein (B) Fats
(C) Vitamin A (D)  Vitamin C.
oM H f7 & | foraent 9t @ W IS € 2
(A EE B T
© faafmm A D) faarfam c.
126. The system affected by AIDS disease is
A) Digestive system (B) Respiratory system
(C) Central nervous system (D) Immune system.
TEd AR | gfad g9 a1en a7 §
@A) e A (B) ToEd A
©) =g afre T (D)  wiaen & |

127. “To every action there is always an opposite and equal reaction.”
The statement is known as

(A) Newton'’s first law (B) Newton's second law
(C) Newton’s third law (D) none of these.
"y TR % Wi faulia wd e w9 wfafswean gl § 1 39 ®U @l whed §
(A) =LA w1 9YH A B) e w g fram
() A F T Fem (D) %0 9§ & T |
128. The rate of doing work is known as
(A) Force (B) Motion
(C) Power (D) Energy.
Fd FA HI T FAdt §
&) w4 B) Tfd
© % (D) St |
129. Which method of heat transmission does not require any medium ?
A) Radiation (B) Convection
(C) Conduction (D) Diffusion.
S GRS - fafy ¥ A ) sravgwar 71 g € 2
(a) fafEwTo (B) HaEd
© = (D) oo |
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130. With the increase of pressure, the boiling point of water

(A) increases (B) decreases

(O remains unchanged (D) none of these.

T ghg & WY I H FELHw

(a) e B) HeW®

(C) afEfdd @ § D) 3T q FE T |
131. Property of sublimation is found in

A) sodium chloride B) calcium chloride

(C) ammonium chloride (D) magnesium chloride.

LAY HT 07 Y1 I ©

@A) Ofegw FREes § \ B) Hfeym FiREs °

(© e FEs | (D) HIfEE FERES 7 |
132. Heat required to increase 1° Celsius temperature of one kilogram water is

A 1 calorie (B) 10 calorie

(C) 100 calorie (D) 1000 calorie.

T Freium o+t o1 T feult Afewad a1 sem & ol sevas o5 g §

@) 1FEr B 10 FERT

(C 100 FaR (D) 1000 FE |
133. Image formed by a convex spherical lens is

(A) imaginary and erect (B) real and erect

(C) imaginary and inverted (D) real and inverted.

TF I WA guu & yfafers s9a &

@A) S T e (B) orfas T €

(C) vl Tof 3w (D) SR e ST |

134. For an incident ray of light, if mirror is rotated by an angle 6, then reflected ray will
rotate by an angle
@A 6 B) 20
A 90° (D) 0e.
e Sfafad werwr fRor & forg, 3fg gdur ot 0 o1 | ¥ e S| @t wrafda fRe o gAE hio
B

A 6 (B) 20
@ 90° D) 0°.
135. A patient of hypermetropia is given spectacles of
(A) lens of zero capacity (B) compound lens
(C) convex lens (D) concave lens.
efie < & wiw 1 v fean s ®
(A) I GHA A AN B fufmaaw
(C) SUA O A (D) & &9 H |

NIRRT | PT.O.
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136.

137.

138.

139.

140.

141.

78 [a]

Frequency of ultrasound is

(A) <20 Hz (B) > 20 Hz and < 20,000 Hz
() <20 Hz and > 20,000 Hz (D) > 20,000 Hz.

ICLTHISUE 1 AT Ereft ®

(A) < 20 Hz (B) > 20 Hz 91 < 20,000 Hz
(C) <20 Hzdd > 20,000 Hz (D) > 20,000 Hz.

Pitch of sound depends on

(A) frequency (B) wavelength

(C) velocity (D) intensity.

waf &1 ared fsf e @

(a) gt w (B) TReE W

© STW D) e R

The number of magnetic lines of force passing through a given area is known as
(A)  Magnetic induction (B) Magnetic intensity

(C) Magnetic flux (D) Magnetic moment.

felt T 8 Q TR el T T Yae 9 dem wee

@) IEHE I (B) T e

(C) I=HE T (D) T el |

A bulb ( 100 W, 200 V ) is connected to a voltage of 160 V. The power dissipation is
A) 64 W (B) 100 W

< 32w (D) 160 W.

W I (100 W, 200 V)& TF 160 V aieedl & HiY SIS T 7 | Wi &9 gm
A) 64 W (B) 100 W

) 32w (D) 160 W.

One kilowatt-hour is unit of

A energy B) power

(C) electric charge (D) electric current.

T frciare-se frwsw ame § 2

(A) S B) wE H

(C) 3= A& H (D) 3FYA U/ H |

If E , be the peak e.m.f. of alternating current, then root mean square e.m.f. will be
@ +E, B) EN2

© E,/2 D E,/N2.

g weaer! 4 &1 e fao a0 90 E (7, @ & Hied qel fo dlo o €W

W +E, B EN2

© E,/2 D E,/N2.
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Detergent is a complex salt of
(A)  Sodium (B) Calcium
(C) Carbon (D) Magnesium.
TSI e Tav §
() W = B) Hfcwram =
€ FEA F (D)  WferEw @
Device used to send text and pictures is
(A) teleprinter (B) telex
) fax (D)  none of these.
SR TE TR & A5 * AU R ST & 39 fhen s § 2
() iR B) o
(© (D) ¥ § &K T |
Which of the following mixtures of gases are used for welding of metals ?
(A) Oxygen + Hydrogen B) Oxygen + Carbon dioxide
(C) Oxygen + Methane (D) Oxygen + Acetylene.
yrgel i Afeen & foag =1 § | fora i o g 61 392 faan Sian ® 2
(A)  AHASE + BTSN (B) AN + wieH SEIES
() s + oA (D)  ATRASH + Tfafee |
Symbol of Tungsten element is
A w =] g ool
G Te (D) —Tm.,
TR T H Gharer §
@A w B T
(C) Te (D) Tm.
The gas responsible for global warming is
@A H, (B) CoO,
@ NO, (D) SO,
fova s & faw iR i R
@A H, (B) co,
@ NO, (D) SO,
The atomic number of a nucleus is equal to

A number of electrons + number of neutrons
(B) number of neutrons + number of protons
(C) number of protons

(D) number of neutrons.

- L-2

[ P.T.O.
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148.

149.

150.

80
T T ITHIY HHH SR Bl &
(B) =il & G&A + WA Y G
€ R w wem
(D) A & dE |
If acid burn occurs in the laboratory then wash with plenty of water and before
putting vaseline which of the following first-aids should be performed ?

(A}  Wash with sodium bicarbonate solution and again with water
(B) Wash with 1% acetic acid or lemon juice

(C) Clean with silver nitrate

(D)  Put simple salt.

FATRTE H 3TRel | So T e ot /9 wifed a1 dueis i 9 74 frefafea § 9 @E-
Wgfer YRR T =IfEY ?

@A) Cifead IREEME B9 9 T F: 9 9 9
B) 1% TEifew 3t o g & @ € €

) ToeR e 4 WE &

(D) YRV HE @A |

A place where small animals like termites, fly, earthworm etc. are cultured according
to their habits is called

(A)  Agquarium B) Museum

() Terrarium (D) Forest.

g€ T el B¢ T 99 — e, al, FYC e 39 We & SFTIR T S, 39 HEd §
@A) S-S ® HwERE

() AfEm D) &7 |

Which of the following statements is not correct ?

(A) Aims are directives in the educational programmes

(B) Aims could not be achieved only by school programmes
(®) Objectives can achieve by school programmes

(D) Aims and objectives are same.

=1 § | F-w YA w8 R ?

() fen wrElER 7 Seve foen Fe o e % €

(B) Had foemer HRHH g Sevd Wa e HR Wohd

Q) 9= 3 forermerdlt FrisHA g1 W o 1 wehd €

(D) 3%¥F & W S 99 €

NIRRT



81

L-2

SECTION - IV (b) / @UE - IV (b)

SOCIAL STUDIES / 9™ 1999

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

W EIs § @ 60T ¥ | fo anafdefi 3 go foma o1 == fohan ® 3= Wit wom = i

91.

92.

93.

LN

The main characteristic of the Indian society is

(A)  unity in diversity (B)
(Q  self-sufficiency (D)
YR T H T T §

(&)  FEd W T (B)
€ EEEA (D)

-Urbanization is the resulit of

(A}  educational development

(B) rural development

llliteracy

regionalism.

Hfen
EIEEEn

(C)  migration of population from villages to cities

(D)  agricultural development.

T iy §

@A) s fawm = (B)
(C) T | TR H AR EE EET @ (D)

Regionalism is the main cause of

(A}  poverty (B)
(C) unemployment (D)
EEiEdrag I HRU ¥

(A T (B)
€ SRS W (D)

Tt fae &
Fiy faema 1 |

social tensions

globalisation.

I aaE) &l
FYATRTO HT |

[ P.T.O.
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94.

95.

96.

97.

98.

82 [A]

Apart from subject contents, a social study teacher should have knowledge of

(A) objectives of teaching (B) methods of teaching

(C) techniques of teaching (D) all of these.

T Teaed o S1eaTTe A foua-a%g & -9y 9 g1 T

@& e & s o B) Taeor fafai =

() Taegor qete =01 (D) A @ |

Which is not a cause of poverty in India ?

(A)  Unemployment (B) Rapid growth of population
(C) Education (D) Large size of family.

TRa # e F fag wF-w wRo @ {2

@ SR B) dte FEEEn 9ig

(© fasn (D) ¥&d IER |

Which Harappan building was considered unique in its built in the world by Sir John
Marshall ?

(A) The Great Bath B) Granary

(C) Assembly Hall (D) Fort Palace.

e FSWERE TR F W S ARie A favg &1 0 @ i &gy 2

(A) g FER B) SR

(C) | WA (D) & &S |

“In India there is unity in diversity and diversity in unity.” Whose statement is this ?
(A) A. L. Basham Bl V. A, Smith

({C) Max Muller (D) Jawaharlal Nehru.

‘Ra A wE § sl R I H usdr § 1! 9% wud feew § 2

(A) To THe 9RMH 1 (B) dte Wo TEY I

(C) F¥d TR F (D) SERE TEE W |

From which Indus site the evidence of ‘Fire pit’ is found ?

(A} Harappa (B} Mohenjodaro

(C) Lothal (D) Kalibanga.
fAidfFr e ' afm e’ o frd € 2

@ s B) HEAdeg!

) g« (D) AT
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99. What is the main source of information about Indo-Greek rulers ?

{A) Travellers’ account (B) Coins
(C) Buddhist literature (D) Jain literature.
Te=-gar Il & I § SIFeRI 1 T Bid 791 § ?
W = e B o
© s e D) ¥ e |
100. Geeta is
{A) Veda (B) Independent Epic
(C) a part of Ramayana (D) a part of Mahabharata.
T &
@ 4@ (B) EdH HEIRA
(C) THEAT H TF 9 (D) TR &1 TH HFI |
101. The famous trade centre of Far West during the Gupta period was
{A}) Vidisa B) Purushpur
(C} Ahichhatra (D) Paithan,
T Fe § g qfvem 1 qfas i w5 oo
(@) fafem B TR
© sfess= o) YT
102. The National emblem of India has been taken from
{a)  the pillar of Sanchi (B) the pillar of Sarnath
(C) the pillar of Allahabad (D) the pillar of Lumbini.
RE &1 qgH fag foan T &
(a) wiE "R (B) ST W A
(C) TERER &N | (D) it " | |

103. ‘People did not lock their houses.’
About which ruler has Fa-hien written this ?

(A} Ramgupta (B) Chandragupta I
(C) Chandragupta Vikramaditya (D) Samudragupta.
‘A W A en R a4 )

wregH A g waew & 91§ v foren § 2

A) THTH (B) == 1

() == fashmfe (D) HESTE |

NG | PT.O.
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104.

105.

106.

107.

108.

109.

84 [a]
The famous temples of Mahabalipuram were built during the reign of
(A) Pallavas (B) Cholas
(C] Chalukyas (D) Kakatiyas.
RIS & Wfas dft fFe s & e & et o ?
() Yoo B) <=
Q) <= (D) TehdTE )
For the first time, in which period of Indlan History was the registration of birth and
death of people introduced ?
(A)  The Age of Mahajanapadas (Bl  The Gupta period
(C) The Kushan period (D) The Mauryan period.
IR 3faeTe ¥ ugel! 9 Al o 9w Od gog &1 uEd 59 & ot w2
(A) HENAUE HTA (B) A e
(C)  FIV FTA D) HY W
The tomb of Sheikh Salim Chisti is located at
() Agra (B) Delh
(C) Fatehpur Sikri (D) Ajmer.
I welw favdt w1 qhea el oo &2
() WA B Tt d
(C) ThaER Hr&d | D) 3SeERH |
The author of ‘Nuh-i-Sipithar’ is
(A)  Amir Khusrau (B) Malik Mohd. Jalsee
(C) Dara Shikoh (D) Sheikh Nizamuddin Auliya.
‘& fafreR’ & =R €
@A) R gud (B) i dEwg ST
© 3| e (D) @ FremEe sitfern |
The chief centre of Chisti School in South India was
{a) Gulbarga (B) Golkonda
(C) Bijapur (D) Bidar.
sfiqolt v # favet faafadt =1 wg@ &= o
W T B) TEFST
€ TR D) e |
The place where Saint Dadu died is
(A) Sambhar (B) Amber
(C} Narayana (D) Pushkar.
w1 g % g R wEm w g ?
() W (B) TR
() TEm (D) Y& |
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110. Where Saint Jambhoji was born ?

{A)  Pipasar (B) Gagron
(C) Jaitaran (D) Nagaur.
T SRS S SH el gen A1 2
() IR B) TR
() SAR" (D) AR |
111. The meaning of the word ‘Dastak’ is
{A) Slavery (B) Factory
(C) Port (D)  Duty-free trade.
"TEE W F AR € ?
(A e B e
(G =I=TmE (D) o & AR |
112. Who was the ruler of Chittorgarh during the invasion ( 1567-68 } of Akbar ?
{A) Maharana Pratap (B) Maharana Udai Singh
(C) Jaimal (D) Maharana Amar Singh.
FR F Fadiese W A ( 1567-68 ) & GHG TE! 1 TS HH 91 ?
(A)  FERION T (B) WewOn 34 fHe
€ “Ema (D) WERmn R fHE |

113. Which of the following Mughal emperor’'s reign was known as the golden period of
Hindli literature ?

(A)  Aurangzeb (B) Akbar

(C) Jahangir (D)  Shah Jahan.

fre pTe ATeRTE % F T @ fEl Wiy 1 W@l g7 el S © 2

a) SHoee (B)  3TF

(Q iR D) wTESwl |
114. The French traveller who visited India for six times was

a) Menucci (B Bernier

(C) Thavenot (D) Tavernier.

HI-Q WHEET A6 7 BT 9] WRD F AR w2

@ =T ® =R

(© &R (D) EEH |

HRIKERI R [ PTO.
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115.

116.

117.

118.

119.

120.

86
How many ranks of Mansabdars have been mentioned by Abul Fazl in his
Ain-e-Akbart ?
A 22 (B) 33
C) 44 (D} 66.
HAFA-T-3Thell H I7ge e 3 Aeeer] # fRadt Al =1 e fen # 2
a 22 (B) 33
(C) 44 (D) 66.
Who was the leader of First War of Independence ( 1857 ) at Kanpur ?
(A) Tantya Tope (B) Laxmi Bai
(C} Nana Sahib (D) Kunwar Singh.
A & YYH WS-l €U ( 1857 ) & FFR J A9 fahed fem o ?
(a) i 2 B) IaHtEE
(C) T Hed O F= fEE
Who is the author of ‘Majha Pravas' written during 1857 ?
(A)  Vishnubhatt Godse (B) Sitaram Pandey
{C) Narget (D) Mangal Pandey.
1857 % <A feifaa T&re ‘aren ware’ & oi@s §
(@) fospg Tied B) ERm sy
(C) TR (D) el HTUeA |
Who has given the title of ‘Rani’ to Gindalau, the great Naga female leader ?
(a) Rabindranath Tagore (B) Mahatma Gandhi
(C) Jawaharlal Nehru (D) Subhash Chandra Bose.
TR AN Afgen fiieey &t T @ Iy e & oot 2
(A) Ty TR B) - W& TR
(C) SR TEE (D) g9H I T4 |
In which language has Mahatma Gandhi written his autobiography ?
(A)  Hindi (B Marathi
(C) Gujarati D) English.
HeTe T 3 T e few v A faet ?
) f&=<t B) TS
(C) Tt (D) s
In which year did British Parliament pass a law through which has taken overall the
rights from East India Company ?
(A) 1858 (B) 1859
(C) 1860 (D) 1861.
fafew vag 3 fopm 9 Fr@ 1w = $= fear s & W) sfyer 8 fad 2
(A) 1858 (B) 1859 '
(O 1860 (D) 1861.

THTREENIN
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121. The Constitution of India was adopted on

(A)  15th August, 1947 (B}  26th January, 1950
(C} 26th January, 1949 (D) 26th July, 1950.
g dfaum e e

(A) 15974, 1947 ® (B) 26 all, 1950 FI
[C) 264K, 1949 Fi (D) 26 J@E, 1950 F |

122. How many fundamental duties have been mentioned in the Constitution of India
Part 4, Article 51-A ?

A 10 (B) 12
) 15 (D) 11.
g Sfaum wFT- 4, 9T 51-T # il & ffam ot ey afofg & 2
{A) 10 (B) 12
(C) 15 (D) 11.
123. When was the first meeting of Constituent Assembly held ?
{4  15th August, 1947 (B) 26th November, 1949
(C) 9th December, 1946 (D)  26th January, 1930.
Hfgur Pt T &1 TEell S &a A ® 0 ot ?
{A) 15 I, 1947 (B) 26 A9, 1949
(€) 9femmr, 1946 (D) 26 5=, 1930.

124. In the Constitution of India the number of Fundamental rights after 44th Amendment
is

{A) 6 (B) 7
(C) 8 (D). 5.
e dfaum 44 & S0y F vEr go el St 9o ?
(A) 6 B 7
© 8 (D) 5.

125. Which is not a characteristic of the Constitution of India ?
{A) Democratic system
(B) Fundamental rights and duties
(C) Employment guarantee to every citizen

(D) Independent judiciary.

IR |y ®t $E-9 fawem @ § 2
(A)  FeTaif=s S

B) W& HfyFR @ Fd=

(C) 9F AMF HY TR i G
(D] TEAA AR |

NRBIRETT [ P.T.O.
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126. The number of Lok Sabha members elected from Rajasthan is

a) 21 (B) 26
© 30 D) 25.
T | ARE & foq fraifea qeadi st dem @

@A) 21 (B) 26
© 30 (D) 25.

127. The President of India is elected by
{A)  the people of India

(B] elected members of both the houses of Parliament and State Legislative

Assemblies
(C) the Prime Minister and Council of Ministers
(D) all the Chief Ministers.
A 1 TPYTa 1 wrar &
(A) ¥R & AN 5T
(B) §EE & SF HeA wa Uy faumwy % faffaa wewi g
(C) wurHsT wd HfTReg % el g

(D) W& gEEHAA g |
128. Who is the Supreme Commander-in-Chief of India ?
{A)]  The Chief of Army Stafl (B) The Chief Justice
(C) The President (D) The Prime Minister.
IR H1 Fa= A FH § 2
W) T weEs (B)  HEA AT
(© Ty (D) SEFHEAT |
129. The Chief Justice of the Supreme Court of India is appointed by
(A) the Vice-President (B) the President
[C) the Prime Minister (D) the President and Prime Minister.
g ¥ FEis AEeE & g et @ fgie s d
&) 3Iu-ugd B) gyl
(O CIELE] (D) UFUfd T8 GHEA |

130. Who is the Speaker of Rajya Sabha ?
{A) The Vice-President
(B) The Leader of opposition
(C) The Home Minister
(D) The person elected by the members of Rajya Sabha.
TeAE] H IR HH Ear g ?
(ay Iu-TEgl (B)  forwer =1 =0
C) TE A D) TR & Fel g fraifad =t |

LT
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131. The largest continent of the world is

(A)  Africa (B} North America

(C) Asia (D) Antarctica.

gt 7 g9 S HEg §

(A)  3HTH (B) 3 FaftE

(© T (D)  Woerdfewr |
132. ‘U’ shaped valley is formed by

) rivers (B) glaciers

[C) winds (D) underground water.

‘U SRR T o Fafida @t &

(a) ArE g B feErE g

(C) T B (D) v & e g |
133. 1n which rocks are layers formed ?

(A) Igneous (B) Metamorphic

(C) Sedimentary (D) All of these,

o fom =gl o o € 2

) A (B FIARA

(C) I (D) T AW |
134. The lowest layer of atmosphere is

(A)  Stratosphere [(B) Troposphere

[C] Ozonosphere (D) Ionosphere.

IEAvSA it Fod el Wa @

(&) FHAIHIEH (B) - &AvSdH

() JANEETEd (D) STHYEd |
135. The sea having maxirmum salinity in the world is

(A) Red Sea (Bl Arabian Sea

(C] Dead Sea (D) Baltic Sea.

fova # waffus @@umar amen 9rR §

(A) et "R (B) SR WFR

(C) ¥a §rR (D) ofezs WFR |
136. Which region of India is associated with ancient Gondwana landmass ?

(A Himalaya (B) Ganga Basin

{C) Thar Desert (D) Deccan Plateau.

YIRA &1 HIF-H1 Y2 W eam - sm 4 Fafyg § 2

(&) fewrer (B) T H A

(C) oW "o (D) =9 &1 B8R |

NIRRT | PT.0.
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137. In which type of forest is Sundari tree found ?

(&) Tidal forest (B) Temperate forest

({C) Desert forest D) Mediterranean forest,

< 98 fpa YR & o+ & T S 2

&) g = B) i g
(C) TEEye oA (D)  MHHEERE 99 |
138. The cause of winter rainfall in Northern India is
(A) South Western Monsoon B) Western Cyclonic disturbances
(C) Cold wave (D)  all of these.
I A # e a1 wRm §
@A) <faolt gfyesd TEa (B) i=t awadg faey
(C) ¥fd v (D) FHIATR
139. Sindri is famous for the production of
{A) Petro-chemical (B) Cotton textile
(C) Chemical fertilizer (D) Cement.
=t forer 30 & faq wfag § 2
B Y- B
€ TS SE (D) Hmwe |
140. On which river is Bhakra-Nangal Project located ?
(A)  Satly) (B) Ganga
(C) Ravi (D}  Vyas.
TGS i fohe 9t W feea § 2
@A) s B) W
) et (D) = |

141. The main soyabean producing districts of Rajasthan are

() Ganganagar — Hanumangarh (B) Kota — Baran

(C) Bundi — Tonk (D) Jaipur — Dausa.
T § R & T S e €

() TR — T B e —a

© & —IF (D) wEg —d
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142, In which district of Rajasthan is Tungsten produced ?

(A}  Bhilwara {B) Udaipur
(C) Nagaur (D)  Jaipur.
TIA & A o § A 1 g g ® 2

() TS B IR
€ iR D) &R |

143. Rainwater harvesting is beneficial for
(A)  irrigation
(B) agriculture
(C)  production of hydroelectricity
(D) improvement of underground water level.
9 1 HIEW TErEE @
() fe=m & oo B P F fag
() 19 foRp@ IR & o (D) A e W gy & fae )
144. In Rajasthan, cities located on National Highway No. 15 are
(A) Bikaner — Nagaur — Jodhpur — Pali
(B) Ganganagar — Bikaner — Jaisalmer — Barmer
(C) Jaipur — Ajmer — Udaipur — Dungarpur
D)y J aipur — Tonk — Bundi — Kota.
A § e T9En- 15 T e TR €
(A) HHER — AR — U — et
B) TR — FFHFR — FHTH — FSH
€) FAR — FFR— IR — FRE
(D) AR — ZF— Fq&t — T |
145. The second highest peak of Aravali is

(A} Jarga B) Ser

(C) Taragarh (D) Achalgarh.
! 1 gE Seaan feR ¥

(&) s B W

(€C) dme (D) T=eE |

NRTINER 1 [ PT.O.
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146.

147.

148.

149.

150.

Maharao Ram Singh II
Maharao Ummed Singh 1.

R w9 fa9g 11
mERE 3Wg fag 1.

Mukandgarh

Jaisalmer.

qw<e o
AT H |

Ganganagar
Churu.

TR
€ |

Bala Fort, Alwar
Achalgarh, Abu.

e foa, ST
=TS, A |

Balwant Singh Mehta
Ramesh Chandra Vyas.

sordd fdg Aw

92

Who was the ruler of Kota during 1857 mutiny ?
(A) Maharao Ram Singh I (B)
{C) Maharac Madho Singh I (D)
1857 &l Shif+d & THY HI<] H1 AHE o

A} HeWE W fHE I (B)
(© wewE W foE | (D)
The famous Salim Singh Haveli is situated at
(A}  Nawalgarh (B)
{C) Pilani (D)
vfag wifew féig gaeh feem @

(&) g § (B)
© oo & (D)
In which district is Gogamedi fair held ?

(A} Bikaner (B)
(C) Hanumangarh D)
for Fort § Y e T E 2

@A) HFR (B)
C) wgaTe (D)
The fort where British General Lord Lake attacked five times, but failed, is
(A} Lohagarh, Bharatpur (B
(C) Mandalgarh, Mandalgarh D)
% foren, f99 | 309 o A€ & 3 9 9 9gE &, e oewe gom,
W RS, AR (B)
(C) wiserTg, AigeTs (D)
The first President of Mewar Praja Mandal was
(A) Manikya Lal Verma (B)
(C) Bhurelal Baya (D}
TA1g Yo HUEH & JU¥ Ay 9

() i @ a9 (B)
(C) e 5 (D)

HTREE IR

W9 9% =9 |
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INSTRUCTIONS
( Read carefully and comply / ﬁmm L ‘Hﬁ)
IMPORTANT / W#aqut

In Section Il (Language 1) a candidate has to attempt the questions of the language which the candidate has selected as
Language | in the Online Application Form.

WOUS 11 (T 1) 3 FE W] H e F A oo I ¥ Re e s wee vl Y w1 % w9 A SiAems sde-u § fe

In Section III [Language I1T) a candidate has to attempt the questions of the language which the candidate has selected as

Language I] in the Unline Application Form, The Language Il will be different from Language I. .

GUE {11 § I8 9 WA B 1 FAT AAE § T W wa e A 6 0 & S 4 S méﬂ-wiﬂﬁwal e | Ay 1 ® f e

The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.

e OMR ¥iiE A W T WA YR ®Hi WE W g

The candidate has to answer of that subject in Section (IVa) Mathematics and Science or (IVb) Social Studies as selected by the

candidate in the Online Application Form.

If a candidate answers gle questions of the language or subject other than selected in the Online Application Form, the

candidate shall be personally responsible for it ancFi"tl would be treated as wrong.

s ﬁwmwgygﬁj}m; i @ e o [Wb)mmﬁmwﬁﬁaﬁéw%wﬁﬁmm%ﬁmﬁwmwm
AT a1 |

AR et 3§ SERT AT 91§ wgh A fav F wv F e T W o W9 a1 9 o & v # oo a & @ 9w anadt

=+ T R RRRE Evi qen e e SR

10.

11.

12.

13.

14.

Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answer Sheet and Sl. No. 1 to 4 in the
Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your Answer Sheet. .

¥R " mlﬁawonnvﬁzgﬁam1ﬁ4ﬁmﬁw(gﬁz)ﬁﬁluﬁmmaﬂ%ﬁ
fermtor st swameR A § ot OMR ¥ie Ft BT F Feraey @ IR o & at ore W IeerE B
OMR 3hect No. should be written in the space provided in the Question Booklet.
OMR 2 T w9 gftenr & € w7 Feiie ®&e = foven o el |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates
will open the Question Booklet seals, Check whether the Booklet contains 150 questions starting from Page No. 3 to 92,
Lri g 96 T8 e 150 w7 §| WEet friw g e % s € v a7 T o fiF 7o gferen §
150 ¥ & S i 78 W@ 2§ areey @t 92 7 &
All questions are of MCQ (Multiple Cholce Questions) type. There is only one corrcct answer to each qucstion carrying one
mark. There will be no negative muk]ngfaf_;%qm AnSWeETS. . .
Tt U UEREwE TR & §) IS W O ﬁ%tnwﬁ*mt%ﬁﬁﬁﬁamwhmmtﬁﬁmmnﬁﬁ#m&m
All questions other than language questions of Sections 11 and III shall be bilingual.
e TR & AN WS WU @O I S O & SRR T it woel & we i e
In any event of any mistake in any question/s, candidates will not be penalized. Howcver no cortections will be made in

uestion/s durin e examination, 4 g R
%ﬁmﬁﬁmﬁaﬁe%ﬁﬁmﬁaﬂﬁﬂﬂmmwﬂﬁmlnﬂwaﬁmﬁ:ﬁwﬁﬂﬁm‘rwaﬂmﬂﬁmﬂml
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet, No additional paper shall be provided.
ﬁﬂﬂmﬂﬂrﬁmﬁmgﬁaﬂﬂ=mﬁw%§mﬁmﬁltﬁmgﬁaﬂﬁﬂﬁm|ﬁﬂﬁmﬂaﬁﬁmwmaﬁmmu

Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not

allovg%[ eir use will result in isquagg;:t‘,;%r_}. e ; T oo &1 T
SRR V) N ] ik

OMR Answer Sheet will be provided aloné[udth Question Booklet separately.
OMR ¥z, ¥ & W A W& B S | . _

The Question Booklet will be issued at 1:45 P.M. and the candidate must fill all entries in Question Booklet and OMR Answer
Sheef, The Question Booklet seals shall be opened at 2:00 P.M. After opening the Question Booklet, ensure that any page/
question is not missing / not printed / torgij repeated. In case, you find any defect anywhere in the Question Booklet, immediately
inform the Invigilator ggdpﬁt it replaced within 10 minutes gy the Invigilator. Warning Bell will ring at 3:25 P.M, and the last

long bell will ring at 3

TR P T GO SR 145 T < ity et st w9 § W R AR OMR Wi § mi o B 0t e ¥
G WA 2:00 79 ¢ AT Jfean G & Tvar] SO SR 9% F ol p 3 feffm wra g & / m_gcra‘t
€ ¥/ ok ot &/ wO F A ¥ o e S g o5 e &) 9 o R i H i qrft o & o o a6 i Sitoae
10 e & iy dig ¥ o W Wﬁlﬁmﬁﬁm3:2sﬂﬁﬁwaﬁﬂﬂﬁﬁﬁm3:3o R ER

Write your Exam Centre Code, Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Signature in the
space _provided in the Questign Booklet as well as in the OMR Answer Sheet. | . ! .
bt o OMR ¥z W FHuiitd ®H W T &5 &1 7S, T T2, OMR ¥iie FH, W Y wiw, T ford 7 o gwamm &5t |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR
Alrllsw%' Sheet corresponding to &e question. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not
allowed.

S W % IR AHROH IW A, B, CA D W KA T §) UV F) o [@E 0§ T 96 IO F TG FIGS I H OMR ¥ie § wEfm
%ﬁ;ﬁiﬁﬂ?wmﬁﬁﬂﬁmﬂﬁﬁﬁﬁlﬁﬁﬁﬂﬂﬁﬂi A a1 FA A I BE IFET T A § ar A F 9w
1

CORRECT / ®# | wone method : | WRORG / TR WRONG / 799 | | WRONG / Tl WRORG / THH1e
O OO @ |mm HOOO| |0OQ00| |[O000| [Ce0e

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account
shall be of the candidate only. o y

OMR YT I TR gRT Jeara & frd aamn wmay &) aft o sodw v omm ¥ig # i ) Pl @ uem A e, o Fem o
S S g AW | T F G Wewdt FEA e = frerr o = ot

N}? C?E t}gite s&hguld leltave t-t]l_'.n: Etzeir‘?iz}atipn] I-tlaubb?forelthe_ ﬁmztl1 beEl)lc. The Qﬁuesgon Booklet as well as the OMR Answer Sheet
shou anded oyer toggther e Invigilator before leaving-the Examjnation .

T A e o T

B T iy SHMEE I g .

Correct method :

1 ST FHAL g




